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Quiz 4

1. Given the graph at right, determine each of the following:
Increasing: ( @, 3) (3 OD)
XY yoime
-3%)

ec: reasing:

Relahv (>, 3)

Relﬂ’rlve@ C_g "{ )

Nov 18-4:49 PM

o )
: . e w?
2. Find the zeros of theolynomig, state the multiplicity of eac ipclu L
the end behavior) O.{ -% 9&“ (—‘(‘\
D x: x‘:z) Ky X 2> \&{? %
= x(x - 2)%(x +
SO PR z [ m [ T/c
Degree: + X O , cC_
End Behavior: W X X )
-l ] [ C
Sketch:

Nov 18-4:49 PM
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Draw a function with the following properties:

a. It passes through the point (-2, 3) j

b. Asx>-0coy > -00 [-

¢. The graph is odd

Given the partial graph of function f shown below. Sketch the other half of the function in
a) if f(x) is even and in b) if f(x) is edd. Find f(-x) for each of the indicated points. HW 5-10
State the domain and range of each completed function.
1. Even 2. 0Odd U
- Y AY
N\ \
\ | ¥
|
- L = j b x )X
—C - g C B
\
3
Domain: E\s/ﬂ ( —sl S) Domain:j
Range: ;}1@\} Range:
Nov 2-12:18 PM
Draw a function with the following properties: o .
Y poss|b|=
a. Zerosof 3 and -3 answer
b. Asx> o0y -c0 f
¢. The graph is even [ -\,
o0 X O
/ \
1 =

< §

Nov 2-12:19 PM
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Given the partially filled out table below for f(x), fill in the rest of the table based on the

function type.

7. Even -¥ 8. Odd —w—? “"?—

x| -3|-2|-1]0 1 2 3 x| -3 | -2 -1 0 1 2 3
(1?71 |11 2|17 vy | L2 0 |FZ |2 I8

9. Even functions have symmetry across the y-axis. Odd functions have symmetry across
the origin. Can a function have symmetry across the x-axis? Why or why not?

If a graph is symmetrical wr.t- the x-axis

i+'snot a funtion. ie. E’;,‘

Nov 2-12:19 PM

_ = SonQ —P Lyt
FEW T opposre. = okl sHer TSR
Determine algebraically whether each of the following functions is even, odd, or ne;i&gr'.
Check your answer using tables on your graphing caleulator.

10. f(x)=2x+1 1. f(x) = 2x% +1
FEx)=2(¢-x)+ | fEx): 2@*'

= =2%+ | = 2%
agit' osg”)"e . nerther same —»even G(gws*'
12. f(x)= 23+ x X(KB = —)j__:
$ExX)= 26 X+ (~x) me | oxf |

- 3~X - = —L -
2X NG 7/ k

-2
Dfﬁ‘))‘)e.— Q)(-/—/
L S N
(B2

Nov 2-12:19 PM
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Ne cubic x* + 7x% + 13x + 3 has only one rational zero, x = -3. p
44 polynomial long division to show that the remainder is zero when dividing the cubi
Phen use the quadr‘ahc formula to find the other two (irrational) zeros.
2 D) A
+YX + Ls»de o
+
+3) X3+7X 243X +3 X*(x+3) = X

L (- X412
X -+

- MC-2X X*+4x+1=0
X3 b goe- b -4 =12

- = o 4 [27=243"
(b e an

Oct 22-5:21 PM

Return Groupwork

With your group, complete the following problem. This was from the June '19 Algebra IT Regents Exam.

Factor completely over the set of integers: 16x" - 81

= (4= Dx™)
= (¢ Qx=-3) (1X*+4)

Sara graphed the polynomial y = 16x" - 81 and stated "All roots of y = 16x" - 81 are real.”
Ts Sara correct? Explain your reasoning. NO Sana. 5 l\b"- @f'u’-l-

Grp‘)lw.ru.l Y éum(:lwv\ Crosses ""‘ﬁ ¥~ aKiIS WULJ
ok £ 1.5, Thesezens are. @nSisdert- | Faches
2y b3 abve. BN~ yxTHT reonliS i
A imaginay 208 ot £ Sc.

we
k== 1y

X:_ t% o i"'s(:

Nov 17-1:06 PM
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Answers on Last 2 pages

1. Sketch: y=2x>+4x?-3 -~ (;S)
Find: |3 "17534 /\
Increasing: (‘GO;| ‘33> (0, OD) _oLo ’ 7+ é
Decreasing: __ (= (3> ) O) =t =ﬁ§
Rel Min: (D =) o

Rel Max: [‘7-333 —~.63)

A 0

Oct 29-1:23 PM

2.  Find the zeros of the polynomial, state the multiplicity Q\\@th Sketch (including

i o
the end behavior) 5\\\.(\\
P(x) = x(x + 3)%(x - 1) e(\ ~ 7 M T/C
Degree: \’Q(\e
e

End Behavior: QS \6

P\

\&
Ske@\ke“

<€ >

Oct 29-1:26 PM
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3 - 6: Factor completely

3. 3x¥+6x2-x-2 4, x"-Bx4+4

5. 64x3+27 6. (x-3P%-(x-3)-6

Oct 29-1:25 PM

7 - 10: Solve (Factor completely first)

7. x*-40x?>+144=0 8 2x3-3x?-10x+15=0

9. x5-81x=0 10. 3(x-1P%-(x-1)-2=0

Oct 29-1:25 PM
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11. Use long division to find the quotient (Q(x)) and remainder (R(x)). Verify your
remainder with the remainder theorem.

(2x® +B5x%+3x-4) = (x+2)

Is (x + 2) a factor of 2x* + 5x? + 3x - 42 Explain your answer-.

Oct 29-1:26 PM

12. Given the polynomial P(x) = x> + x* + kx - 4, find the value of k such that x- 2isa
factor of P.

Using your value of k, find the other factors of P. (either sketch or algebraically)

Oct 29-1:26 PM
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Name ‘}’{Pu Alg2ce
Date Review Unit 5

1. Sketch: y=2x"+4x*-3
Find:

Increasing: |{‘ ,~1.33), (0,00)

Decreasing:
Rel Min: __| n, -3

: (0,-8)

Rel Max: _(~|. 33, — 13)

the end behavior)
P0) = x(x + 3(x - 1)

Degree: LJ'

End Behavior: T

3-6: Factor completely

3. Bebxt-x-2

= PE(X+2) -1 (x+2)
< (BR:-1)(x+2)

oLs
b=3

Sketch: " ? : : ?
-3 0

2. Find the zeros of the polynomial, state the multiplicity of each. Sketch (including

Z | m | T/C
312 1T
0 |1 C
L LI C

4 K -Bx 4

- (X" H)(x"-1)
(X 2)(x M 2)x-1) (x4 1)

5. 6dx?e27 = (4}(—%5)’][&}(2 IZ}GQ) 6. (x-3P-(x-3)-6 Lety=x-3
ik

AUl

(U-3){u+z)
(x-3-3)(x-3+42)

(x=0)(%-1)

Oct 26-11:14 AM

7. K -4+ 144:=0
(2-4)(x*-3l) =0
(D)X 2) (XUt b) =0
=2 X=-2 Xl X=-b

{*2,20}

X(x4-a)=0
¥ (x™a)(x=q)=0

7= 100 Solve (Factor completely first)

8 2x'-3x-10x+15:=0
K(2%-3)-5(1%-3) =0 )
ax-a0ts)=0 125
%320 x50

X-‘% X*=5

=1

< tu=x-1
9. x*-8lx=0 . 10, 3(x-1F-(x-1)-2=0 LETU=4~
X j0,13i,t55 © %0

JU.Z'tl'Z =0 N-=0
Aut-3U+zu-2=0 Y o
u(u-0+2(u-)=0 ’

12. Given the polynomial P(x} = x¥ +
factor of P. 2
S ey
0=8+2k

E (2007 XX D) -4 ()
71700+ (%+)(K=4)
2\ V(K= (xe(K-2)(x+2)

=

Is (x + 2) a factor of 2x* + B +
NO. 1§ y42 was afactor, +heremainder would be 0.

X(x%a)x+3)(x-3)=0 g3u+z)fu~n=lo ¥-12%0
YOXZ"‘Q__% {43=0 X-3=0 (3“1 |)+2){K -1y =0 ‘I
\5d XS xed Taylixg)g {51
11, Use long dwnsmn to find the g (Q(x)) and r fer (R{x)). Verify your
ler with the remainder theorem. ASfdﬁ
. _ XH(Xe2) =D
Ep e gy
)(+2)ZX:“‘L]5X2+5X"4 |+2)=X+2
-1yt
——rY )= 2nk
¥ Rlx) =
X3 D) 2h2512)32)4

PL)=lp

Ix-42 Explaiifn YOur answer.

x* + kx = 4, find the value of k such that x - 2 isa
K-8 pfy)e xIaxt vy
K=-4 )

Usmi four value af k, find the other factors of P, (either skztch or algebraicall

oA T
‘§ ‘- other factors:
® I (xtD(x42) 1

Oct 26-11:15 AM
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